
5%,��������������)02'�0$2*�1R���������������������� 0DUFK���������

$OO�/LTXLGLW\�$GMXVWPHQW�)DFLOLW\��/$)��SDUWLFLSDQWV
0DGDP�6LU�

/LTXLGLW\�$GMXVWPHQW�)DFLOLW\�± 5HSR�DQG�5HYHUVH�5HSR�5DWHV
$V�DQQRXQFHG�LQ�WKH 6HYHQWK %L�PRQWKO\�0RQHWDU\�3ROLF\�6WDWHPHQW���������� WRGD\��LW�KDV�
EHHQ�GHFLGHG�E\�WKH�0RQHWDU\�3ROLF\�&RPPLWWHH��03&��WR�UHGXFH�WKH�SROLF\�5HSR�UDWH�XQGHU�
WKH� /LTXLGLW\� $GMXVWPHQW� )DFLOLW\� �/$)�� E\� ��� EDVLV� SRLQWV� IURP� ����� SHU� FHQW� WR ����� SHU�
FHQW ZLWK�LPPHGLDWH�HIIHFW�

���)XUWKHU��FRQVHTXHQW XSRQ�WKH�ZLGHQLQJ�RI�WKH�/$)�FRUULGRU��WKH�5HYHUVH�5HSR�UDWH�XQGHU�
WKH�/$)�VWDQGV�DGMXVWHG IURP������SHU�FHQW WR �����SHU�FHQW ZLWK�LPPHGLDWH�HIIHFW�

���$OO�RWKHU�WHUPV�DQG�FRQGLWLRQV�RI�WKH�H[WDQW�/$)�6FKHPH�ZLOO�UHPDLQ�XQFKDQJHG�
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